
 

  ／   わ り 算 の 復 習 ②  

① ５ ÷ ２ ＝  

 

② ３ ７ ÷ ６ ＝  

 

③ ３ ０ ÷ ４ ＝  

 

④ ７ ５ ÷ ８ ＝  

 

⑤ ７ ÷ ５ ＝  

 

⑥ ２ ７ ÷ ７ ＝  

 

⑦ ３ ４ ÷ ５ ＝  

 

⑧ １ ９ ÷ ３ ＝  

 

⑨ １ １ ÷ ６ ＝  

 

⑩ ４ １ ÷ ７ ＝  

 

⑪ ２ ３ ÷ ８ ＝  



 

⑫ ６ ８ ÷ ９ ＝  

 

⑬ １ ３ ÷ ４ ＝  

 

⑭ ２ ８ ÷ ３ ＝  

 

⑮ ２ ４ ÷ ５ ＝  

 

⑯ ５ ２ ÷ ６ ＝  

 

 

 

 

 

 

 

 

 

 

 

 

 



 

答 え  

① ５ ÷ ２ ＝ ２ あ ま り １  

② ３ ７ ÷ ６ ＝ ６ あ ま り １  

③ ３ ０ ÷ ４ ＝ ７ あ ま り ２  

④ ７ ５ ÷ ８ ＝ ９ あ ま り ３  

⑤ ７ ÷ ５ ＝ １ あ ま り ２  

⑥ ２ ７ ÷ ７ ＝ ３ あ ま り ６  

⑦ ３ ４ ÷ ５ ＝ ６ あ ま り ４  

⑧ １ ９ ÷ ３ ＝ ６ あ ま り １  

⑨ １ １ ÷ ６ ＝ １ あ ま り ５  

⑩ ４ １ ÷ ７ ＝ ５ あ ま り ６  

⑪ ２ ３ ÷ ８ ＝ ２ あ ま り ７  

⑫ ６ ８ ÷ ９ ＝ ７ あ ま り ５  

⑬ １ ３ ÷ ４ ＝ ３ あ ま り １  

⑭ ２ ８ ÷ ３ ＝ ９ あ ま り １  

⑮ ２ ４ ÷ ５ ＝ ４ あ ま り ４  

⑯ ５ ２ ÷ ６ ＝ ８ あ ま り ４  

 


